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Name: __________________________________



1
The solution to the equation [image: image1.png]4x2 498 =0



 is

	1)
	[image: image2.png]



	3)
	[image: image3.png]2





	2)
	[image: image4.png]+7;




	4)
	[image: image5.png]






2
What is the solution when the equation [image: image6.png]wxl+w=0



 is solved for x, where w is a positive integer?

	1)
	[image: image7.png]



	3)
	6

	2)
	0
	4)
	[image: image8.png]






3
The roots of the equation [image: image9.png]4%+ 5



 are

	1)
	[image: image10.png]~-3and 1




	3)
	[image: image11.png]1+ 2iand =1 - 2§





	2)
	[image: image12.png]~1, only




	4)
	[image: image13.png]—~1+4iand — 1 -4i







4
The roots of the equation [image: image14.png]x4 6x+ 10




 in simplest [image: image15.png]a + bi



 form are

	1)
	[image: image16.png]-3+ 2i




	3)
	[image: image17.png]-3+





	2)
	[image: image18.png]—f+ i




	4)
	[image: image19.png]






5
The roots of the equation [image: image20.png]


 are

	1)
	[image: image21.png]2+ 3




	3)
	[image: image22.png]




	2)
	[image: image23.png]2+ 6i




	4)
	[image: image24.png]






6
The solutions to the equation [image: image25.png]


 are

	1)
	[image: image26.png]—f + 2i




	3)
	[image: image27.png]6+ 2i





	2)
	[image: image28.png]



	4)
	[image: image29.png]






7
A solution of the equation [image: image30.png]222 + 3x+



 is

	1)
	[image: image31.png]



	3)
	[image: image32.png]




	2)
	[image: image33.png]



	4)
	[image: image34.png]






8
The roots of the equation [image: image35.png]


 are

	1)
	[image: image36.png]



	3)
	[image: image37.png]




	2)
	[image: image38.png]3




	4)
	[image: image39.png]






9
What are the solutions to [image: image40.png]



	1)
	[image: image41.png]



	3)
	[image: image42.png]




	2)
	[image: image43.png]



	4)
	[image: image44.png]






10
The solutions to the equation [image: image45.png]5x2 - 2x+13=10



 are

	1)
	[image: image46.png]



	3)
	[image: image47.png]




	2)
	[image: image48.png]



	4)
	[image: image49.png]






11
The solution to the equation [image: image50.png]18x% - 24x+ 87 =0



 is

	1)
	[image: image51.png]—étﬁm 158




	3)
	[image: image52.png]




	2)
	[image: image53.png]



	4)
	[image: image54.png]






12
The solutions to the equation [image: image55.png]


 are

	1)
	[image: image56.png]



	3)
	[image: image57.png]




	2)
	[image: image58.png]



	4)
	[image: image59.png]1+2/61







13
If a solution of [image: image60.png]2(2x- 1) = 5x°



 is expressed in simplest [image: image61.png]a + bi



 form, the value of b is

	1)
	[image: image62.png]



	3)
	[image: image63.png]




	2)
	[image: image64.png]



	4)
	[image: image65.png]






14
Solve the equation [image: image66.png]x4 3x+1



 algebraically.  Express the answer in [image: image67.png]a + bi



 form.

15
Solve the equation [image: image68.png]2% + 5x+



.  Express the answer in [image: image69.png]a + bi



 form.

16
Solve the equation [image: image70.png]322+ 5x+



.  Write your solution in [image: image71.png]a + bi



 form.

17
a) Algebraically determine the roots, in simplest [image: image72.png]a + bi



 form, to the equation below.

[image: image73.png]—2x+T=4x-10




b) Consider the system of equations below.

[image: image74.png]-2+





[image: image75.png]





The graph of this system confirms the solution from part a is imaginary.  Explain why.


1
ANS:
4

[image: image76.png]



REF:
061707aii

2
ANS:
4

[image: image77.png]



REF:
061912aii

3
ANS:
3

[image: image78.png]4 2xe 1= =541
1) =4
x+l=t2

x=-1£2




REF:
081703aii

4
ANS:
3

[image: image79.png]



REF:
012416aii

5
ANS:
1

[image: image80.png]



REF:
062312aii

6
ANS:
3

[image: image81.png]X" = 12x+ 36 = —40+ 36
(-6 =4

x-6=42

x=6+20




REF:
fall1504aii

7
ANS:
1

[image: image82.png]3t .32 -4(2)(2) _

22)





REF:
061612aii

8
ANS:
3

[image: image83.png]2202400 g B 2645 1, w45
() T T =T33




REF:
081809aii

9
ANS:
2

[image: image84.png]4x2 - Tx+



  [image: image85.png]TECD AOE) 727

2@) 3





REF:
012507aii

10
ANS:
2

[image: image86.png]26) 10

25D 46 25T 24i4/415
- - 0 =





REF:
011905aii

11
ANS:
4

[image: image87.png]2(6) 1z

B (D) -4O) gs 612 _s2iNa/158 2,10
= = 1z 3%t





REF:
011711aii

12
ANS:
2

[image: image88.png]3 - dx+ 2

It — Gx+



  [image: image89.png]G2 NCO 4O g2 g2

20) [ [




REF:
062410aii

13
ANS:
2

[image: image90.png]5x2 —4x+



  [image: image91.png]26) 10 0

R O O T =T TN R TIN
- - =75




REF:
012020aii

14
ANS:


[image: image92.png]3343 40D —32 435

2(1) Z





REF:
082432aii

15
ANS:


[image: image93.png]5+ .57 - 4(2)(8) _

22)





REF:
061827aii

16
ANS:


[image: image94.png]5+ .52 -4(3)(8) _

203)





REF:
082327aii

17
ANS:


[image: image95.png]2 -fx=-17

~6x+8=-1749
x-3)=-8
x-3=22if7

x=3:2in7Z



The solution is imaginary because the parabola and line do not intersect.
REF:
081936aii

